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Look it Up!

PART A: Grammar and Vocabulary o
Directions: Choose the word or phrase (1)2), (3), or (4) that best complete each sentence. Then mark the correc ‘2 et {
choice on your answer sheet. 59 1 E0 viTel s12Z43v0|'0) »

61-1 know that the youngest man in the compay, ... money problems in his life, ha Undze;s;di;rpéféercw

decided to buy a new car. 10 .00
1) which has few 2) who has little 36 0 B0 vsn Bzarep -
3) who has few 4) which has little
62-... information on this page, so if you do not undrstand anything, please do contact us for further
advice.
1) There is a lot of 2) That there is much
3) There are lots of 4) Those are many

63-According to the International Coffee Organization, a total of 169.6 ... of coffee were produced
worldwide in 2020.
1) million 60-kilogram bags 2) millions 60-kilogram bag
3) millions 60-kilograms bags 4) million 60-kilograms bag

64-The new app has been ... designed with privacy imind and only keeps a record of the number of
contacts, not any location or other personal data.

1) mentally 2) specifically 3) fluently 4) morally
65-A dictionary is published to help language learers, and its level ... according to the needs of the
users.
1) arranges 2) exists 3) meets 4) varies
66-No ... how much you protect your children, they \ill still make mistakes when they have to make
decisions.
1) wonder 2) way 3) means 4) matter

67-We are trying to ... a list of suitable people forthe job. We collect all the names from our different
agencies and, then, interview them to choose the best one.
1) magnify 2) compile 3) guide 4) contain

68-The company is very ... and open to suggestions, sgydu want them to start making a particular style
of clothes in your size, feel free to let #m know and be assured they will consider it.

1) communicative 2) complicated 3) essential 4) incomprehensible

PART B: Cloze Test

Directions: Read the following passage and decide which choice ((B), (3), or (4) best fits eah space. Then mark the corretchoice on your
answer sheet.

In English we don’t “make” our homework, we “do” our homework. We don'’t “do” a mistake; we “make” a
mistake. These are examples of Bocations. Collocations are ...(69)... ofwords which usually go together.
Collocations are ...(70)... of two or more words that @ almost always used together to create a specific
meaning. There are different kinds of collocations in Eglish. Strong collocations are word pairings ...(71)...
expected to come together, such as combinationstiwi‘make” and “do”. Collocations just sound “right” to
...(72)... English speakers who use them all the timé&earning collocations will make your English sound
more natural. It sounds verystrange to native speakers to hear “make a shower” instead of “take or have a
shower”.
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69- 1) regions 2) combinations 3) symbols 4) introductions
70- 1) jumped into 2) figured out 3) stood for 4) made up

71- 1) that are 2) which they 3) that 4) are

72- 1) familiar 2) popular 3) native 4) honest

PART C: Reading Comprehension

Directions: Read the following passages and answer the questionsdiyosing the best choice (1), (2), (3), or (4). Then mattket correct choice on your

answer sheet.

PASSEGE 1:

Why don’t our schools offer more after-school activitiesfor students? Schools have lots of facilities to
provide more opportunities for students to participate inhealthy and meaningful activities. They would help
keep students involved in healthy physical activitiesUnfortunately, children do not have enough free
activities available to them.

Schools don’t need to spend money to accomplishis proposal. The money has already been invested.
The sport fields and the gymnasiums in the schools shidube put to good use. These facilities are not being
used to their full potential. Schools could easily offeactivities such as basketball, volleyball, football, and
other sport activities.

They could charge a_nominal fee for students sthat they could pay for it. The funds would go to

providing a supervisor or coach. Parent volunteers coultbe recruited. This proposal would not only help the
children in getting their much-needed exercise, but it wald also give the school a more positive image in the

community.

73-Based on the information in the passage, vith of the following statements is TRUE?
1) Children nowadays are more interestedfter-school activities than before.
2) Using the school playing fields and facilitisen provide the children with more activities.
3) The number of students is out of proportiorthe sport fields available in schools.

4) Students will be professional athletestélying part in after-school activities.

74-According to the passage, schools can offer after-school activities since ... .
1) students are not provided with enough safe sport places
2) some parents cannot afford the costs of private sport clubs
3) playing fields and gymnasiums have already been built

4) students can spend more time learning the basics during school

75-The underlined word “nominal” in the third paragraph is closest in meaning to ... .

1) small 2) extra 3) calm 4) large

76-The passage has been primarily written to ... .
1) discuss a new finding 2) compare two different attitudes

3) describe an event 4) make a suggestion
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PASSEGE 2:

The climate of the Earth is always changing. In the past, the change was the result of natural causes.
Nowadays, however, the term “climate change” is generally used when referring to changes in our climate
which have been identified since the early part of the twentieth century. The changes we’ve seen over recent
years and those which are predicted to occur over the next 100 years are thought by many to be largely a
result of human behavior rather than due to natural changes in the atmosphere.

The greenhouse effect is very important when we talk about climate change, as it relates to the gases which
keep the Earth warm. Although the greenhouse effect is a naturally occurring phenomenon, it is believed
that the effect could be intensified by human activity and the emission of gases into the atmosphere. It is the
extra greenhouse gases that humans have released which are thought to pose the strongest threat. Certain
researchers, such as Dr. Michael Crawley, argue that even though this natural phenomenon does exist, there
is no doubt that human activity has worsened its effect; this is evident when comparing data regarding the
Earth’s temperature in the last one hundred years with the one hundred years prior to that. Some scientists,
however, dispute this as Dr. Ray Ellis suggests that human activity may be contributing a small amount to
climate change, but this increase in temperature is an unavoidable fact based on the research data they have

gathered.

77- What is the author’s main purpose in the passage?
1) To explain how natural changes in the atmosphere are increasingly influencing the climate and the Earth’s
temperature
2) To show that carbon dioxide and other heat-trapping gases are not the main causes of climate change
3) To provide some interesting solutions to an alarming issue caused by a naturally occurring phenomenon

4) To introduce the environmental problem of climate change and some of the existing theories about its causes

78-From the context of the passage, we can understand that to dispute an idea is to ... .
1) suggest it as a solution
2) call it into question
3) discover its origin
4) support it using another idea

79- Why has the author quoted Dr. Crawley and Dr. Ellis in the passage?
1) To show the readers that all scientists agree that climate change can be avoided
2) To illustrate some of the global effects of climate change
3) To present two opposing views on the same subject
4) To take the attention away from the problem of climate change

80- According to the passage, which of the following statements is TRUE?
1) Most people believe that the changes in our climate are due to natural changes in the environment.
2) It is predicted that the climate of the Earth will continue to change for years to come.
3) Based on extensive research, the greenhouse effect does not actually exist.
4) The emission of gases into the atmosphere leaves the greenhouse effect unchanged.
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Part A: Grammar

Directions: Questions 81-90 are incomplete sentes. Beneath each sentence ywill see four words or phrases
marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the fcorrect
choice on your answer sheet.

81-Beef ... very useful in a wide range of productiorenvironments globally to supply a wide array of

products.
1) cattle are 2) cattles are 3) cattle is 4) of the cattles is
82-Unfortunately, the number of car accident ... tomore than two dozen in Tehran this year.
1) deaths has risen 2) death is risen
3) deaths have risen 4) death will rise

83-My father bought ten chocolates for us, four ofvhich are for me, three formy sister and ... for my
elder brother.

1)arestis 2) the rest is
3) the rests are 4) the rest are
84-Saying that the unemployed ... to work” is a classic case of blaming the victim.
1) doesn’t want 2) hasn’t wanted 3) don’t want 4) aren’t wanted

85-This research institute, along with other national organizations, ... at least one dedicated central
source from which data is downloaded.
1) has 2) are 3) have 4) be
86-It is common knowledge that mumps ..a contagious disease that typically starts with a few days of
fever, headache, and loss of appetite.
1) are 2)is 3) to be 4) are being
87-Even where the police ... arrest youthey are allowed to detain youf there are reasonable grounds
to suspect that you are connected to a particular crime.
1) does not 2) are not 3) is not 4) do not
88-Texting our friends regularly with problems ... usfeel better at the time but it may make us more
anxious in the long run.
1) makes 2) make 3) are making 4) have made
89-Did you know every single one of our clients tat ... with us ... a recommended vendor list, specific
to their area?

1) book — receive 2) books — receives  3) books — receive 4) book — receives
90-Neither your parents nor | ... very glad to hearthat you failed your math exam. Mathematics ...
much more interesting than what you think.
1) wasn’t — are 2) weren't —is 3) was — is 4) were — are

Part B: Vocabulary
Directions: Questions 91-105 are incomplete sentes. Beneath each sentence you will see four words or phfases

marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the sentence. Then mark the correct
choice on your answer sheet.

91-As far as | know, there are so many schools ithis region that put a ... emphasis on sporting
achievements.

1) hard 2) safe 3) heavy 4) quick
92-We asked our children to ... the money that was gong to be spent on holiday to support a local
charity.
1) donate 2) rotate 3) tolerate 4) protect
93-The vitamin C content in the fruit makes it exremely beneficial for improving the ... of your
bones.
1) creativity 2) strength 3) prosperity 4) destruction

94-| found that the ... is actually derived from a kind of bacteria that causes a rare and serious iliness
called botulism.
1) installation 2) relation 3) medication 4) attraction
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95-In my opinion, you should try your best to keepthe atmosphere in your greenhouse slightly moist

... the spring.
1) throughout 2) instead 3) across 4) besides
96-The girl’s total ... in her book meant that shecouldn’t hear her mother when she called her for
dinner.
1) devotion 2) motivation 3) distraction 4) absorption
97-The patient was ... examined by three fully qualied doctors but they found nothing wrong with
him.
1) thoroughly 2) mutually 3) violently 4) softly
98-Because the mother bird’s instinct is to ... her species, she will do just about anything to protect
her eggs.
1) abandon 2) imperil 3) transform 4) perpetuate

99-Everything that is past is eithera learning experience to grow on, a beautiful memory to ... on, or a
motivating factor to act upon.
1) expand 2) preserve 3) reflect 4) remind
100-When the Americans placed a tariff on Russiarsteel coming into the U.S., the Russians ... by
placing an embargo on American chicken imports.

1) suppressed 2) retaliated 3) resembled 4) cooperated
101-The new employee had a wicked sense of humonddidn’t object to playing odd ... jokes on his
colleagues.
1) running 2) private 3) practical 4) polluted
102-He talked about issues that were perhaps beyond my. but | did my best to figure out what he was
saying.
1) satisfaction 2) comprehension 3) transportation 4) permission
103-When the noise ... the alarm, the criminals gopanicked and narrowly escaped before the police
arrived.
1) tripped 2) raised 3) fitted 4) compiled

104-Guests can take advantage of the adjacent garage @tose proximity to the hotel, swim a few ... in
our pool and relax in the sauna or steam bath.

1) jumps 2)caps 3) trunks 4) laps
1054’'m very busy all this week due to the new progct but I'd be ... to meet with you next Monday.
1) similar 2) available 3) immediate 4) frequent

Part C: Sentence Structure
Directions: Choose the sentence with the best word order for each of the following series. Then mark the correcj choice

on your answer sheet.
106-
1) Mario remembered to give his assignment to his tutor though he has spoken to her about its length, so
she insisted that she has never received it.
2) Mario remembered to give his assignment to his tutor because he had spoken to her about its length, so
she insisted that she had never received it.
3) Mario remembered giving his assignment to his tutor though he has spoken to her about its length, but
she insisted that she has never received it.
4) Mario remembered giving his assignment to his tutor because he had spoken to her about its length, but
she insisted that she had never received it.
107-
1) My parents would love it if | &came a doctor, but I’'m not sure I'd be able to face all those years of
study.
2) My parents will love it if | became a doctor, since hat sure I'd be able to face all those study years.
3) My parents would love it if | become a doctor, since I'm not sure I'd be able facing all those years of
study.
4) My parents will love it if | become a doctor, but It sure I'd be able facing all those study years.

1) We see Earth from outer space highlight how tiny faagile is our planet. The Envisat program helps

people to understand which.
2) Seeing Earth from outer spacglilights how tiny and fragile is oplanet. The program of Envisat
helps people to understand which.
3) Seeing the Earth from outerage highlights how tiny and fragile optanet is. The Envisat program
helps people to understand that.
4) We see the Earth from outer space highlight how tiny and fragile our planet is. The program of Envisat

helps people to understand that.
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109-

1) To be told by the environmentalists that to help to greatly reducing our impact on the planet there are
ways for each of us.

2) Environmentalists tell us that there are ways #zamh of us can help to greatly reduce our impact on
the planet.

3) They are ways for each of us to help to tyeaeduce our impact othe planet which is the
environmentalists tell us.

4) To greatly reduce our impact orethlanet by environmentalists tell that they are ways that each of
us can help.

110-

1) We get to see some of the best athletes iwdilel to compete to each other as one of a few chances.

2) Competing against each other, it's one of the few abmmwe get to see some of the best athletes in the
world.

3) Some of the best athletes in the world competsath other which it's one of a few chances we get to
see them.

4) It's one of the few chances we get to see sontieeolbest athletes in the world competing against each
other.

Part D: Language Function
Directions: Read the following conversations between twogle and answer the questiormbout the conversations tpy
choosing one of the choices (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

111-

112-

113-

114-

115-

116-

117-
118-

119-

120-

A: Excuse me, I'm on the flight toChicago. When will it depart now?

B: It looks like it'll be delayed at least two hours. I'll keep ...(111)... .

A: Thanks, but | have a 4 o’clock meeting in Chicago. Ithe flight gets in at3:30, there’s no way I'll
L (112).. it

B: Sorry, but there’s nothing | can do. There are lots obther people here ...(113)... .

A: Are there any other flights to Chicago?

B: Yes, there’s a 1 p.m. departure, but it’s fully booked.

A: Can you put me on the waiting list?

B: I'll add you to the list, but don’t ...(114)... . There are quite a f&v people already on the list.

1) you in the dark 2) you posted

3) an eye out 4) a straight face

1) rush 2) pass

3) make 4) spare

1) in the same boat 2) in the red

3) up to their ears 4) on the rocks

1) sweat it 2) sleep on it

3) hold your breath 4) make a pit stop

A: | just bought a ticket to New York City. I'm so excited to see the city!

B: ...(115)...! Traveling is amazing. | love discovering new places and visiting new people. When are
you leaving?

A: Next week. ...(116)... . It was cheaper. Hopelly, I'll be able to sleep on the plane.

B: I wish | could go with you! New York City is a magical place. You will have so much fun.

1) Good for you 2) That’s a pity

3) You can say that again 4) How come

1) I’'m over the moon 2) I'm taking the red eye

3) | was stabbed in the back 4) I'm shaking in my shoes

A: | didn’t imagine that being a project leader involved so much work! I’'m going to ask someone else
to do it.
B: Youcan'tdoit! You ...(117)... a promise you wald be the leader; now you have to ...(118)... .

1) did 2) got 3) made 4) let
1) pull your leg 2) learn by heart
3) shoulder the responsibility 4) let sleeping dogs lie

A: The mail-carrier just brought a registered package for you. It's from Japan.

B: I haven’t been expecting anything. Oh, ...(119)... . | was told that she’d moved to Tokyo.
A:...(120)...?

B: Her husband is doing some research in biology.

1) it will be forwarded 2) it's the wrong address
3) it can be a nice change 4) it must be from my cousin, Betty
1) How often does she travel 2) What's she doing there

3) What does she do for a living 4) How long has she been there
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Part E: Cloze Test

Directions: Read the following passage and decide which choice (1), (@®),or (4) best fits ezh space. Then mark tH

correct choice on your answer sheet.
Much of today’s business ...(121). across international borders, amal while the majority of the
global business ...(122)... might share the use of English as a common language, the subtle ...(123)...
of business communication might dfer greatly from culture to culture. A lack of understanding of
the cultural norms and practices of our busiress acquaintances can result ...(124)... unfair
judgements, misunderstandings and breakdowns in communication. Here is a basic area of
differences in the business etiquette around the watlthat could help stand you in good ...(125)...
when you next find yourself workingwith someone from a different culture.

When discussing this topic in a training course, a German trainee and a British trainee got into a
hot debate about ...(126)..it was appropriate for someone witha doctorate to use the corresponding
title on their business card. The British trainee...(127)... that anyone who wasn’t a medical doctor
expecting to be addressed as “Dr” was disgtingly pompous ...(128)... . The German trainee,
...(129)..., argued that the hard work and years of education ...(130)... into earning that PhD should
give them full rights to expect to be addressed as “Dr”.

This stark difference in opinion over somethinghat could be conceivedas minor, ...(131)... that
we often attach meaning to even the most mundenpractices. When things that we are used to
....(132)..., it could spark the strongest reactionsn us. While many Continental Europeans and
Latin Americans prefer to be addressed with a tle, for example Mr or Ms and their surname
...(133)... meeting someone in a business contdat the first time, Americans, and ...(134)... the
British, now tend to prefer using their first names.The best thing to do is to listen and observe how
your conversation partner addresses you and, if yoare still unsure, do not be ...(135)... to ask them
how they would like to be addressed.

[]

121- 1) is conducted 2) conducted 3) conducting 4) conducts
122- 1) volume 2) community 3) mission 4) pattern
123- 1) glances 2) profanities 3) misnomers 4) nuances
124- 1) to 2) with 3)in 4)on
125- 1) stead 2) quest 3) shape 4) period
126- 1) whether 2)if 3) what 4) which
127- 1) consumed 2) maintained 3) reduced 4) carried
128- 1) but full of themselves 2) and full of them
3) and full of themselves 4) but full of them
129- 1) besides 2) despite 3) although 4) however
130- 1) puts 2) put 3) putting 4) are put
131- 1) thus easily overlook, and show 2) easily shows, and thus overlooks
3) shows and thus easily, overlooks 4) and thus easily overlooked, shows
132- 1) differently are done 2) are done differently
3) do differently 4) differently do
133- 1) when 2) why 3) whose 4) that
134- 1) fluently 2) namely 3) icreasingly 4) accidentally
135- 1) amoral 2) afraid 3) alive 4) arid

Part F: Reading Comprehension

Directions: In this part of the test, you wiltead two passages. Each passage I®feed by some questions. Answer fhe

questions about the passages byooking the best choice (1), (2), (3), or)(&hen mark the caect choice on youf

answer sheet.
PASSAGE 1:
A weak battery can make a perfectly good laptop unusable. This is a common problem for laptop
owners, and there are plenty of tips out there forhow to prevent it. If you want to extend your
computer battery’s life as long agpossible, just be careful about with advice you follow. There is an
old idea that leaving a laptop plugged in for to long will hurt it. This is simply not the case.

This comes from the idea that laptops can bevercharged. Modern laptos use one of two battery
types: lithium-polymer or lithium-ion . Both devices are designed tetop charging the moment they
hit 100 percent power. Instead opassing through the full battery first, the power from the charging
cord will be diverted directly into the computer. This means that keeping a fully charged laptop
plugged in all day won’t damage the power unit.
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A laptop battery is healthiest when it maintairs a charge of roughly 70 to 80 percent. If the charge
is kept too low or too high on a consistent basigpur battery won't last as long. Of course, keeping
your charge hovering around 75 grcent throughout the wakday isn’t always practical. Instead of
obsessing over the specific number, try to unplug yo device periodically once it’s fully charged and
plug it back in once it dips below 50 percent power.

Although the technology hasimproved significantly in recent years, the death of your laptop
battery is still inevitable. The moment you power up your newcomputer for the first time, the
lithium inside starts to degrade, and each time yodischarge and recharge your battery, a very small
amount of its capacity is lost. The best way to exte its longevity is to make sure your laptop isn’'t
consuming more power than necessary. Do this byading any unused apps that are running in the
background and adjusting the battery settings on your device. Heat is another major factor when it
comes to battery life. Too much of it can damaggour lithium battery, so make sure the bottom of
your computer is always properly ventilated.

136-Which of the following best describes the furiton of the underlined sentence in paragraph 17

1) To make a logical conclusion based on the information provided in the same paragraph

2) To reject the idea provided the previous sentence

3) To approve of the idea mentioned in the previous sentence

4) To warn readers about the consequences of leaving a laptop plugged in for a long time
137-Which of the following best describes the raltionship between paragraph 1 and paragraph 27?

1) Paragraph 1 poses several questions and paragraph 2 offers a possible answer to one of them.

2) Paragraph 2 does not seem to be related to paragraph 1 at all.

3) Paragraph 2 explains why the old idea mentioned in paragraph 1 is not rooted in reality.

4) Paragraph 1 introduces a generalization thtu&rated by specific examples in paragraph 2.
138-The underlined word “This” in paragraph 2 refers to ... .

1) the sound advice on protecting laptop batteries

2) the common problem

3) the myth that laptops can be overcharged

4) the idea that leaving a laptop plugged in for too long will hurt it
139-According to the passage, which of thiollowing can damage laptop batteries?

1) Excessive heat

2) Monitoring power consumption

3) Closing unused apps

4) Unplugging a fully charged battery
1404t can be logically inferred from the passage that ... .

1) one can trust the information provided on the Internet on how to protect laptop batteries

2) lithium-ion batteries are more efficient and cost effective than lithium-polymer batteries

3) laptop batteries tend to decrease in terms of capability and performance as time passes

4) the decay cycle of lithium-polymer batteriesriach shorter compared to lithium-ion batteries
141-There is sufficient information in the passage tanswer all of the following questions EXCEPT ... .

1) Is it possible to keep a laptop battery healthy indefinitely?

2) When is the best time to replace a laptop battery?

3) What is the best way to prolong battery longevity?

4) Does keeping a fully charged laptop plugged in damage the power unit?
142-The underlined word “inevitable” in the last paragraph is closest in meaning to ... .

1) irreplaceable 2) undetermihe 3) inescapable 4) undecided
143-The paragraph following this passagevould most probably discuss ... .

1) other types of laptop batteries and their advantages and disadvantages

2) different ways to prevent laptops from overheating

3) several strategies to protect laptops from viruses and hackers

4) some of the important advantages of using lithium-polymer batteries
144-The author’s tone in this passage could best be described as ... .

1) sentimental 2) annoyed 3) informative 4) cynical
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PASSAGE 2:

The modern age is an age of electricity. People are so used to electric lights, radio, televisions, and
telephones that it is hard to imagine what life would be like without them. When there is a power
failure, people grope about in flickering candlelight. Cars hesitate in the streets because there are no
traffic lights to guide them, and food spoils in silent refrigerators.

Yet, people began to understand how electricity works only a little more than two centuries ago.
Nature has apparently been experimenting in this field for millions of years. Scientists are
discovering more and more that the living world may hold many interesting secrets of electricity that
could benefit humanity.

All living cells send out tiny pulses of electricity. As the heart beats, it sends out pulses of recorded
electricity; they form an electrocardiogram, which a doctor can study to determine how well the
heart is working. The brain, too, sends out brain waves of electricity, which can be recorded in an
electroencephalogram. The electric currents generated by most living cells are extremely small—often
so small that sensitive instruments are needed to record them. But in some animals, certain muscle
cells have become so specialized as electrical generators that they do not work as muscle cells at all.
When large numbers of these cells are linked together, the effects can be astonishing.

The electric eel is an amazing storage battery. It can send a jolt of as much as eight hundred volts
of electricity through the water in which it lives (an electric house current is only one hundred twenty
volts.) As many as four-fifths of all the cells in the electric eel’s body are specialized for generating
electricity, and the strength of the shock it can deliver corresponds roughly to the length of its body.
145-What is the main idea of the passage?

1) Electric eels are potentially dangerous.

2) Biology and electricity appear to be closely related.

3) People would be at a loss without electricity.

4) Scientists have already discovered all there is about electricity.

146-The author mentions all of the following as results of a blackout EXCEPT ... .
1) refrigerated food items may go bad

2) traffic lights do not work

3) people must rely on candlelight

4) elevators and escalators do not function

147-Why has the author mentioned electric eels in the passage?

1) To warn the reader to stay away from them

2) To compare their voltage to that used in houses

3) To give an example of a living electrical generator

4) To describe a new source of electrical power

148-According to the passage, how many volts of electricity can an electric eel emit?
1) 1000 2) 800

3) 200 4) 120

149-1t can be inferred from the passage that the longer an eel is, the ... .

1) more beneficial it will be to science

2) more powerful its electrical charge will be

3) easier it will be to find

4) tougher it will be to eat

150-The underlined word “astonishing” in paragraph 3 is closest in meaning to ... .
1) negative 2) impressive

3) harsh 4) logical
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